

**NEW RESULTS PARAMETRIC APOSTOL-TYPE  
FROBENIUS-EULER POLYNOMIALS AND THEIR MATRIX  
APPROACH**

WILLIAM RAMÍREZ<sup>1</sup>, MARÍA JOSÉ ORTEGA<sup>1</sup>, DANIEL BEDOYA<sup>2</sup>,  
AND ALEJANDRO URIELES<sup>3</sup>

**ABSTRACT.** The new algebraic properties of the parametric Apostol-type Frobenius-Euler polynomials and parametric type Frobenius-Euler polynomial have been explained in this research. The researchers have studied the series of the Taylor type and established the relation between the classic Apostol Frobenius-Euler and Frobenius-Euler polynomials. This work has also addressed the generalized parametric Apostol-type Frobenius-Euler polynomials matrices and has shown some of their properties. Finally, this research provided some factorizations of Apostol-type Frobenius-Euler matrix that involves the generalized Pascal matrix, Fibonacci and Lucas matrices, respectively.

1. INTRODUCTION

The Apostol type polynomials and numbers, have been used extensively in mathematical analysis and practical applications. For this reason, they have been studied as reported in [1–4, 6, 7, 9, 11, 13–15, 17, 18].

Let  $\mathbb{P}$  be the vector space of the polynomials with coefficients in  $\mathbb{C}$ . Let  $\{A_n(x)\}_{n \geq 0}$  be the sequence of polynomials known in the literature as the sequence Appell polynomials if the polynomials  $A_n(x)$  are defined by the following generating function: (see, [9, p. 1, (1)]):

$$(1.1) \quad f(z)e^{xz} = \sum_{n=0}^{\infty} A_n(x) \frac{z^n}{n!},$$

---

*Key words and phrases.* Appell polynomials, Frobenius-Euler polynomials, Apostol Frobenius-Euler polynomials, Apostol Frobenius-Euler numbers, parametric generalization.

2020 *Mathematics Subject Classification.* Primary: 33E20, 11B83, 11B68. Secondary: 30H50.

DOI

*Received:* June 18, 2021.

*Accepted:* May 03, 2022.

where  $f$  is a formal power series in  $z$ , these polynomials have found remarkable applications in different branches of mathematics, theoretical physics, and chemistry [1, 14]. On the other hand, for a particular case, we have the Apostol Frobenius-Euler polynomials that are generated by choosing in (1.1) the following value of  $f(z)$  (see, [5, p. 1, (1)]):

$$f(z) = \frac{1-u}{\lambda e^z - u},$$

from which you get the Apostol Frobenius-Euler polynomials  $H_n(x; \lambda; u)$  in variable  $x$ , is defined through the generating function (see, [2, p. 2, Definition 2]):

$$\frac{1-u}{\lambda e^z - u} e^{xz} = \sum_{n=0}^{\infty} H_n(x; \lambda; u) \frac{z^n}{n!}, \quad |z| < \left| \log \left( \frac{\lambda}{u} \right) \right|,$$

where  $H_n(\lambda; u)$  denotes the Apostol Frobenius-Euler number. Thus, the Apostol Frobenius-Euler polynomials fulfill the following identities respectively (see, [2, p. 4, Proposition 1 and Proposition 2]):

$$\lambda H_n(x+1; \lambda; u) - u H_n(x; \lambda; u) = (1-u)x^n$$

and

$$\frac{d}{dx} [H_n(x; \lambda; u)] = n H_{n-1}(x; \lambda; u).$$

Furthermore, if  $n \in \mathbb{N}$ , then (see, [2, p. 4, Proposition 3]):

$$\int_0^1 H_n(x; \lambda; u) dx = \frac{u-\lambda}{\lambda} \cdot \frac{H_{n+1}(\lambda; u)}{n+1}.$$

In this paper, the authors will study new properties of the polynomials that are introduced in [10]. The author will also define the generalized parametric Apostol-type Frobenius-Euler polynomials matrices and will show some of their properties. This paper is organized as follows. In Section 2, will be giving some definitions of previous results of parametric type Apostol Frobenius-Euler  $H_n^c(x; \lambda; u)$  and  $H_n^s(x; \lambda; u)$  polynomials. Section 3, will be obtaining several properties of the parametric Apostol Frobenius-Euler and Frobenius-Euler polynomials. Section 4, will be presenting some new series of the Taylor type involving the Apostol Frobenius-Euler numbers  $H_n(\lambda; u)$  and Frobenius-Euler numbers  $H_n(u)$ . Finally, Section 5 will be addressing the generalized parametric Apostol-type Frobenius-Euler polynomials matrices and show some of their properties.

## 2. BACKGROUND AN PREVIOUS RESULTS

The following standard notions will be used:  $\mathbb{N} = \{1, 2, \dots\}$ ,  $\mathbb{N}_0 = \mathbb{N} \cup \{0\}$ ,  $\mathbb{Z}$  denotes the set of integers,  $\mathbb{R}$  denotes the set of real numbers and  $\mathbb{C}$  denotes the set of complex numbers.

For real parameters,  $p$  and  $q$  in [8] was obtained that the Taylor series representation of the following functions  $e^{pz} \cos(qz)$  and  $e^{pz} \sin(qz)$  is given by

$$e^{pz} \cos(qz) = \sum_{k=0}^{\infty} C_k(p, q) \frac{z^k}{k!},$$

$$e^{pz} \sin(qz) = \sum_{k=0}^{\infty} S_k(p, q) \frac{z^k}{k!},$$

where  $C_k(p, q)$  and  $S_k(p, q)$  is given by

$$(2.1) \quad C_k(p, q) = \sum_{j=0}^{\lfloor \frac{k}{2} \rfloor} (-1)^j \binom{k}{2j} p^{k-2j} q^{2j},$$

$$(2.2) \quad S_k(p, q) = \sum_{j=0}^{\lfloor \frac{k-1}{2} \rfloor} (-1)^j \binom{k}{2j+1} p^{k-2j-1} q^{2j+1}.$$

Also it is fulfilled (see, [13, p. 944]):

$$(2.3) \quad C_k(p, p) = 2^{\frac{k}{2}} p^k \cos \frac{k\pi}{4},$$

$$S_k(p, p) = 2^{\frac{k}{2}} p^k \sin \frac{k\pi}{4},$$

$$C_k(0, q) = q^k \cos \frac{k\pi}{2},$$

$$(2.4) \quad S_k(0, q) = q^k \sin \frac{k\pi}{2},$$

$$C_k(p, 0) = p^k \quad \text{and} \quad S_k(p, 0) = 0.$$

Using the definitions of  $C_n(p; q)$ ,  $S_n(p; q)$  and the Apostol Frobenius-Euler numbers  $H_n(\lambda; u)$  we have, two parametric of Apostol-type Frobenius-Euler polynomials

$$H_{n,c}(p, q; \lambda, u) = H_n(\lambda, u) C_n(p, q),$$

$$H_{n,s}(p, q; \lambda, u) = H_n(\lambda, u) S_n(p, q),$$

which exponential generating of  $H_{n,c}(p; q; \lambda; u)$  and  $H_{n,s}(p; q; \lambda; u)$  functions are given respectively, by (see, [10, p. 5, (14) and (15)]):

$$(2.5) \quad \left[ \frac{1-u}{\lambda e^z - u} \right]^{(\alpha)} e^{pz} \cos(qz) = \sum_{n=0}^{\infty} H_{n,c}^{[\alpha]}(p, q; \lambda; u) \frac{z^n}{n!},$$

$$(2.6) \quad \left[ \frac{1-u}{\lambda e^z - u} \right]^{(\alpha)} e^{pz} \sin(qz) = \sum_{n=0}^{\infty} H_{n,s}^{[\alpha]}(p, q; \lambda; u) \frac{z^n}{n!}.$$

Thus, according to the Cauchy series product, we obtain

$$(2.7) \quad H_{n,c}(p, q; \lambda; u) = \sum_{k=0}^n \binom{n}{k} H_{n-k}(\lambda; u) C_k(p, q),$$

$$(2.8) \quad H_{n,s}(p, q; \lambda; u) = \sum_{k=0}^n \binom{n}{k} H_{n-k}(\lambda; u) S_k(p, q).$$

Therefore, from equation (2.5) it is observed that when the parameter  $q$  takes the value 0 one has  $H_{n,c}(p; q; \lambda; u) = H_n(p; \lambda; u)$  and the Apostol Frobenius-Euler polynomials are obtained. On the other hand from (2.5) and (2.6) it is easy to obtain the following statement

$$(2.9) \quad H_{n,c}^{[\alpha+\beta]}(p+q, q; \lambda; u) = \sum_{k=0}^n \binom{n}{k} H_{k,c}^{[\alpha]}(p, q, \lambda; u) H_{n-k,c}^{[\beta]}(q, 0, \lambda; u),$$

$$H_{n,s}^{[\alpha+\beta]}(p+q, q; \lambda; u) = \sum_{k=0}^n \binom{n}{k} H_{k,s}^{[\alpha]}(p, q, \lambda; u) H_{n-k,s}^{[\beta]} \left( q, \frac{\pi}{2z}, \lambda; u \right).$$

Below, a list of the first parametric Apostol Frobenius-Euler polynomials for  $H_{n,c}(p, q; \lambda; u)$  and  $H_{n,s}(p, q; \lambda; u)$  are shown:

$$H_{0,c}(p, q; \lambda; u) = \frac{1-u}{\lambda-u},$$

$$H_{1,c}(p, q; \lambda; u) = \frac{1-u}{\lambda-u} p - \frac{\lambda(1-u)}{(\lambda-u)^2},$$

$$H_{2,c}(p, q; \lambda; u) = \left[ \frac{2\lambda^2}{(\lambda-u)^3} - \frac{\lambda}{(\lambda-u)^2} \right] (1-u) - \frac{1-u}{\lambda-u} q^2 + \frac{1-u}{(\lambda-u)^2} p^2$$

$$+ \left[ \frac{2(1-u)\lambda}{(\lambda-u)^2} \right] p,$$

$$H_{3,c}(p, q; \lambda; u) = \left[ \frac{2\lambda^2}{(\lambda-u)^3} - \frac{\lambda}{(\lambda-u)^2} \right] p - 3 \frac{1-u}{\lambda-u} p q^2 + 3\lambda \frac{1-u}{(\lambda-u)^2} q^2$$

$$+ (1-u) \left[ -\frac{6\lambda^3}{(\lambda-u)^4} + \frac{6\lambda^2}{(\lambda-u)^3} - \frac{\lambda}{(\lambda-u)^2} \right],$$

$$H_{4,c}(p, q; \lambda; u) = \frac{1-u}{\lambda-u} p^4 - \frac{4\lambda(1-u)}{(\lambda-u)^2} p^3 + 6(1-u) \left[ \frac{2\lambda^2}{(\lambda-u)^3} - \frac{\lambda}{(\lambda-u)^2} \right] p^2$$

$$+ 4(1-u) \left[ \frac{-6\lambda^3}{(\lambda-u)^4} + \frac{6\lambda^2}{(\lambda-u)^3} + \frac{\lambda}{(\lambda-u)^2} \right] p - \frac{6(1-u)}{\lambda-u} p^2 q^2$$

$$+ 12\lambda \frac{1-u}{(\lambda-u)^2} p q^2$$

$$- 6\lambda(1-u) \left[ \frac{2\lambda^2}{(\lambda-u)^3} - \frac{\lambda}{(\lambda-u)^2} \right] q^2 + \frac{1-u}{\lambda-u} q^4$$

$$+ (1-u) \left[ \frac{24\lambda^4}{(\lambda-u)^4} - \frac{36\lambda^3}{(\lambda-u)^4} + \frac{14\lambda^2}{(\lambda-u)^3} - \frac{\lambda}{(\lambda-u)^2} \right],$$

$$H_{0,s}(p, q; \lambda; u) = 0,$$

$$\begin{aligned}
 H_{1,s}(p, q; \lambda; u) &= \frac{1-u}{\lambda-u}q, \\
 H_{2,s}(p, q; \lambda; u) &= -2\lambda \frac{1-u}{(\lambda-u)^2}q + 2\frac{1-u}{\lambda-u}pq, \\
 H_{3,s}(p, q; \lambda; u) &= -\lambda \frac{1-u}{\lambda-u}q^3 + 2\frac{1-u}{\lambda-u}p^2q - 6\lambda \frac{1-u}{\lambda-u}pq \\
 &\quad + 3(1-u)\lambda \left[ \frac{2\lambda}{(\lambda-u)^3} - \frac{1}{(\lambda-u)^2} \right] q.
 \end{aligned}$$

Let  $p$  be any nonzero real number. The generalized Pascal matrix of first kind  $P[x]$ , is an  $(n + 1) \times (n + 1)$  matrix whose entries are given by (see, [16, Definition 1]):

$$p_{i,j}(p) := \begin{cases} \binom{i}{j}(p)^{i-j}, & i \geq j, \\ 0, & \text{otherwise.} \end{cases}$$

Let  $\{F_n\}_{n \geq 1}$  be the Fibonacci sequence, i.e.,  $F_n = F_{n-1} + F_{n-2}$  for  $n \geq 2$  with initial conditions  $F_0 = 0$  and  $F_1 = 1$ . The Fibonacci matrix  $\mathcal{F} \in M_{n+1}(\mathbb{R})$  is the matrix whose entries are given by (see, [19]):

$$f_{i,j} := \begin{cases} F_{i-j+1}, & \text{if } i - j + 1 \geq 0, \\ 0, & \text{if } i - j + 1 < 0. \end{cases}$$

Let  $\{L_n\}_{n \geq 1}$  be the Lucas numbers sequence, i.e.,  $L_{n+2} = L_{n+1} + L_n$  for  $n \geq 1$  with initial conditions  $L_1 = 1$  and  $L_2 = 3$ . The Lucas matrix  $\mathcal{L} \in M_{n+1}(\mathbb{R})$  is the matrix whose entries are given by (see, [20]):

$$l_{i,j} := \begin{cases} L_{i-j+1}, & \text{if } i - j \geq 0, \\ 0, & \text{if } i - j < 0. \end{cases}$$

### 3. THE PARAMETRIC OF APOSTOL-TYPE FROBENIUS-EULER POLYNOMIALS AND THEIR PROPERTIES OF $H_n^c(p, q; \lambda; u)$ AND $H_n^s(p, q; \lambda; u)$

In this section, some properties of the parametric Apostol-type Frobenius-Euler polynomials  $H_{n,c}(p, q; \lambda; u)$  and  $H_{n,s}(p, q; \lambda; u)$ , will be presented.

**Proposition 3.1.** *For every  $n \in \mathbb{N}$ , the parametric Apostol-type Frobenius-Euler  $H_{n,c}(p; q; \lambda; u)$  and  $H_{n,s}(p; q; \lambda; u)$  polynomials meet the following identity*

$$(3.1) \quad \lambda H_{n,c}(1 + p, q; \lambda; u) - u H_{n,c}(p, q; \lambda; u) = (1 - u)C_n(p, q),$$

$$(3.2) \quad \lambda H_{n,s}(1 + p, q; \lambda; u) - u H_{n,s}(p, q; \lambda; u) = (1 - u)S_n(p, q).$$

*Proof.*

$$\begin{aligned}
 (\lambda + u + 1) \sum_{n=0}^{\infty} H_{n,c}(1 + p, q; \lambda; u) \frac{z^n}{n!} &= \frac{1-u}{\lambda e^z - u} e^{(1+p)z} \cos(qz) (\lambda + u + 1) \\
 &= e^{pz} (\lambda e^z + u e^z + e^z - u + u) \cos(qz) \frac{1-u}{\lambda e^z - u}
 \end{aligned}$$

$$\begin{aligned}
 &= (1 - u)e^{pz} \cos(qz) + ue^{pz} \cos(qz) \frac{1 - u}{\lambda e^z - u} \\
 &\quad + (1 + u)e^{(p+1)z} \cos(qz) \frac{1 - u}{\lambda e^z - u} \\
 &= (1 + u) \sum_{n=0}^{\infty} H_{n,c}(1 + p, q; \lambda; u) \frac{z^n}{n!} \\
 &\quad + (1 - u) \sum_{n=0}^{\infty} C_n(p, q) \frac{z^n}{n!} \\
 &\quad + u \sum_{n=0}^{\infty} H_{n,c}(p, q; \lambda; u) \frac{z^n}{n!}. \quad \square
 \end{aligned}$$

So, the first statement given in (3.1) was demonstrated. The proof of (3.2) is obtained analogously.

**Corollary 3.1.** *If in Proposition 3.1 the relationships (3.1) and (3.2) take a value of  $p = 0$ , then it is true*

$$\lambda H_{2n,c}(1, q; \lambda; u) - uH_{2n,c}(q; \lambda; u) = (1 - u)(-1)^n q^{2n}$$

and

$$\lambda H_{2n+1,s}(1, q; \lambda; u) - uH_{2n+1,s}(q; \lambda; u) = (1 - u)(-1)^n q^{2n+1}.$$

**Proposition 3.2.** *For every  $n \in \mathbb{Z}^+$ , the parametric Apostol-type Frobenius-Euler  $H_{n,c}(p; q; \lambda; u)$  and  $H_{n,s}(p; q; \lambda; u)$  polynomials meet the following identity*

$$(3.3) \quad H_{n,c}(p + l, q; \lambda; u) = \sum_{k=0}^n \binom{n}{k} H_{k,c}(p, q; \lambda; u) l^{n-k},$$

$$(3.4) \quad H_{n,s}(p + l, q; \lambda; u) = \sum_{k=0}^n \binom{n}{k} H_{k,s}(p, q; \lambda; u) l^{n-k}.$$

*Proof.* Using (2.5) one obtained

$$\begin{aligned}
 \sum_{n=0}^{\infty} H_{n,c}(p + l, q; \lambda; u) \frac{z^n}{n!} &= \left( \frac{1 - u}{\lambda e^z - u} e^{pz} \cos(qz) \right) e^{lz} \\
 &= \left( \sum_{n=0}^{\infty} H_{n,c}(p, q; \lambda; u) \frac{z^n}{n!} \right) \left( \sum_{n=0}^{\infty} l^n \frac{z^n}{n!} \right) \\
 &= \sum_{n=0}^{\infty} \sum_{k=0}^n \binom{n}{k} H_{k,c}(p, q; \lambda; u) l^{n-k}.
 \end{aligned}$$

The first affirmation obtained in (3.3) has been proven. The other result (3.4) can be demonstrated similarly. □

**Corollary 3.2.** *The following statements are valid*

$$H_{n,c}(p + 1, q; \lambda; u) - H_{n,c}(p, q; \lambda; u) = \sum_{k=0}^{n-1} \binom{n}{k} H_{k,c}(p, q; \lambda; u)$$

and

$$H_{n,s}(p + 1, q; \lambda; u) - H_{n,s}(p, q; \lambda; u) = \sum_{k=0}^{n-1} \binom{n}{k} H_{k,s}(p, q; \lambda; u).$$

Using the Corollary 3.2 and the Proposition 3.1, the following recurrence formulas are obtained:

$$(3.5) \quad H_{n,c}(p, q; \lambda; u) = \frac{1}{\lambda - u} \left[ (1 - u)C_n(p, q) - \lambda \sum_{k=0}^{n-1} \binom{n}{k} H_{k,c}(p, q; \lambda; u) \right],$$

$$H_{n,s}(p, q; \lambda; u) = \frac{1}{\lambda - u} \left[ (1 - u)S_{n-1}(p, q) - \lambda \sum_{k=0}^{n-1} \binom{n}{k} H_{k,s}(p, q; \lambda; u) \right],$$

where  $H_{0,c}(p, q; \lambda; u) = \frac{1 - u}{\lambda - u}$  and  $H_{0,s}(p, q; \lambda; u) = 0$ .

**Proposition 3.3.** *For every  $n \in \mathbb{N}$ , the following partial derivative identities are correct*

$$(3.6) \quad \frac{\partial}{\partial p} [H_{n,c}(p, q; \lambda; u)] = nH_{n-1,c}(p, q; \lambda; u),$$

$$(3.7) \quad \frac{\partial}{\partial p} [H_{n,s}(p, q; \lambda; u)] = nH_{n-1,s}(p, q; \lambda; u),$$

$$(3.8) \quad \frac{\partial}{\partial q} [H_{n,c}(p, q; \lambda; u)] = -nH_{n-1,s}(p, q; \lambda; u),$$

$$(3.9) \quad \frac{\partial}{\partial q} [H_{n,s}(p, q; \lambda; u)] = nH_{n-1,c}(p, q; \lambda; u).$$

It will be shown (3.6), the proof of (3.7), (3.8) and (3.9) are similar.

*Proof.*

$$\begin{aligned} \frac{\partial}{\partial p} \left[ \sum_{n=0}^{\infty} H_{n,c}(p, q; \lambda; u) \frac{z^n}{n!} \right] &= \sum_{k=0}^{\infty} \frac{\partial}{\partial p} [H_{k,c}(p, q; \lambda; u)] \frac{z^k}{k!} \\ &= \frac{1 - u}{\lambda e^z - u} z e^{pz} \cos(qz) \\ &= \sum_{n=0}^{\infty} H_{n,c}(p, q; \lambda; u) \frac{z^{n+1}}{n!} \\ &= \sum_{n=1}^{\infty} H_{n-1,c}(p, q; \lambda; u) \frac{z^n}{(n-1)!} \\ &= \sum_{n=1}^{\infty} n H_{n-1,c}(p, q; \lambda; u) \frac{z^n}{(n)!}, \end{aligned}$$

by comparing the coefficients of the series, one has the result. □

**Proposition 3.4.** *The polynomials  $H_{n,c}(p, q; \lambda; u)$  and  $H_{n,s}(p, q; \lambda; u)$  are, respectively, of degrees  $n$  and  $n - 1$  in the variable  $p$ , it is also asserted that*

$$(3.10) \quad H_{n,c}(p, q; \lambda; u) = \frac{1-u}{\lambda-u} p^n - n \frac{1-u}{(\lambda-u)^2} p^{n-1} + \dots,$$

$$(3.11) \quad H_{n,s}(p, q; \lambda; u) = \frac{n(1-u)q}{\lambda-u} p^{n-1} - \frac{n(n-1)(1-u)\lambda q}{(\lambda-u)^2} p^{n-2} + \dots.$$

*Proof.* First, the result given in (3.10) is shown using the method of mathematical induction on  $n$ . On the other hand of (3.5) it has

$$H_{0,c}(p, q; \lambda; u) = \frac{1-u}{\lambda-u},$$

$$H_{1,c}(p, q; \lambda; u) = \frac{(1-u)p}{\lambda-u} - \frac{\lambda(1-u)}{(\lambda-u)^2}$$

and

$$H_{2,c}(p, q; \lambda; u) = \frac{(1-u)p^2}{(\lambda-u)^3} - 2 \frac{(1-u)\lambda p}{(\lambda-u)^2} - \frac{1-u}{\lambda-u} q^2 + \frac{2\lambda^2(1-u) - \lambda(\lambda-u)}{(\lambda-u)^3}.$$

Therefore, the statement given in (3.10) is valid for  $n = 0, 1, 2$ . It will be assumed that it is correct for  $n - 1$ . Using (3.6), we get

$$\frac{\partial}{\partial p} [H_{n,c}(p, q; \lambda; u)] = n \frac{1-u}{\lambda+1} p^{n-1} - n(n-1) \frac{1-u}{(\lambda-u)^2} p^{n-2} + \dots.$$

To obtain the final result given in (3.10) it is necessary to integrate with respect to variable  $p$ . The results (3.9) and (3.11) are obtained analogously.  $\square$

**Proposition 3.5.** *If  $n \in \mathbb{N}$ ,  $\lambda > 0$ ,  $u \neq \lambda$  and  $m$  is an odd positive integer, then*

$$(3.12) \quad H_{n,c}(mp, q; \lambda^{\frac{1}{m}}; u^{\frac{1}{m}}) = m^n \sum_{k=0}^{m-1} u^{\frac{m-1}{m}} \left(\frac{\lambda}{u}\right)^{\frac{k}{m}} H_{n,c}\left(p + \frac{k}{m}, \frac{q}{m}; \lambda; u\right)$$

and

$$(3.13) \quad H_{n,s}(mp, q; \lambda^{\frac{1}{m}}; u^{\frac{1}{m}}) = m^n \sum_{k=0}^{m-1} u^{\frac{m-1}{m}} \left(\frac{\lambda}{u}\right)^{\frac{k}{m}} H_{n,s}\left(p + \frac{k}{m}, \frac{q}{m}; \lambda; u\right).$$

*Proof.* To prove (3.12), it avails to consider the following relation:

$$\sum_{k=0}^{\infty} \left(\frac{\lambda}{u}\right)^{\frac{k}{m}} H_{n,c}\left(p + \frac{k}{m}, \frac{q}{m}; \lambda; u\right) = \frac{1-u}{\lambda e^z - u} \left(\frac{\lambda}{u}\right)^{\frac{k}{m}} e^{(p+\frac{k}{m})z} \cos\left(\frac{qz}{m}\right),$$

take a sum over  $k$  from 0 to  $m - 1$ , one has

$$\begin{aligned} \sum_{k=0}^{m-1} \sum_{n=0}^{\infty} \left(\frac{\lambda}{u}\right)^{\frac{k}{m}} H_{n,c}\left(p + \frac{k}{m}, \frac{q}{m}; \lambda; u\right) &= \frac{1-u}{\lambda e^z - u} \left(\frac{\lambda}{u}\right)^{\frac{k}{m}} e^{pz} \cos\left(\frac{qz}{m}\right) \\ &= \frac{(1-u)e^{mp\frac{z}{m}} \cos\left(\frac{qz}{m}\right) u^{\frac{1-m}{m}}}{\lambda^{\frac{1}{m}} e^{\frac{z}{m}} - u^{\frac{1}{m}}} \end{aligned}$$



$$= \sum_{n=0}^{\infty} m^{-n} u^{\frac{1-m}{m}} H_{n,c} \left( mp, q; \lambda^{\frac{1}{m}}; u^{\frac{1}{m}} \right) \frac{z^n}{n!}.$$

To the test (3.13) the proof is similarly. □

New results are presented below for parametric Frobenius-Euler polynomials.

**Proposition 3.6.** *For every  $n \in \mathbb{N}$ , the parametric Frobenius-Euler  $H_n^c(p; q; u)$  and  $H_{n,s}(p; q; u)$  polynomials meet the following identity*

$$(3.14) \quad H_{n,c}(1 + p, q; u) - uH_{n,c} = (1 - u)C_n(p, q),$$

$$(3.15) \quad H_{n,s}(1 + p, q; u) - uH_{n,s} = (1 - u)S_n(p, q).$$

*Proof.*

$$\begin{aligned} (1 + u + 1) \sum_{n=0}^{\infty} H_{n,c}(1 + p, q; u) \frac{z^n}{n!} &= \frac{1 - u}{e^z - u} e^{(1+p)z} \cos(qz) (1 + u + 1) \\ &= e^{pz} (e^z + ue^z + e^z - u + u) \cos(qz) \frac{1 - u}{e^z - u} \\ &= (1 - u)e^{pz} \cos(qz) + (1 + u)e^{(p+1)z} \cos(qz) \frac{1 - u}{e^z - u} \\ &\quad + ue^{pz} \cos(qz) \frac{1 - u}{e^z - u} \\ &= (1 - u) \sum_{n=0}^{\infty} C_n(p, q) \frac{z^n}{n!} \\ &\quad + (1 + u) \sum_{n=0}^{\infty} H_{n,c}(1 + p, q; u) \frac{z^n}{n!} \\ &\quad + u \sum_{n=0}^{\infty} H_{n,c}(p, q; u) \frac{z^n}{n!}, \end{aligned}$$

which proves the first assertion (3.14). The proof of the second assertion (3.15) is similar. □

**Corollary 3.3.** *For every  $n \in \mathbb{N}$ , the following identities hold true*

$$H_{n,c}(1 + p, q; u) - uH_{n,c}(p, q; u) = (1 - u)C_n(p, q),$$

$$H_{n,s}(1 + p, q; u) - uH_{n,s}(p, q; u) = (1 - u)S_n(p, q).$$

**Corollary 3.4.** *If in Proposition 3.6 the relationships (3.14) and (3.15) take a value of  $p = 0$ , then it is true*

$$H_{2n,c}(1, q; u) - uH_{2n,c}(q; u) = (1 - u)(-1)^n q^{2n}$$

and

$$H_{2n+1,s}(1, q; \lambda; u) - uH_{2n+1,s}(q; u) = (1 - u)(-1)^n q^{2n+1}.$$

**Proposition 3.7.** *For every  $n \in \mathbb{Z}^+$ , the following identities hold true*

$$H_{n,c}(p+l, q; u) = \sum_{k=0}^n \binom{n}{k} H_{k,c}(p, q; u) l^{n-k}$$

and

$$H_{n,s}(p+l, q; u) = \sum_{k=0}^n \binom{n}{k} H_{k,s}(p, q; u) l^{n-k}.$$

**Corollary 3.5.** *The following statements are valid*

$$H_{n,c}(p+1, q; u) - H_{n,c}(p, q; u) = \sum_{k=0}^{n-1} \binom{n}{k} H_{k,c}(p, q; u)$$

and

$$H_{n,s}(p+1, q; u) - H_{n,s}(p, q; \lambda; u) = \sum_{k=0}^{n-1} \binom{n}{k} H_{k,s}(p, q; \lambda; u).$$

Using Corollary 3.5 and Proposition 3.6, the following recurrences are obtained:

$$H_{n,c}(p, q; u) = \frac{1}{1-u} \left[ (1-u)C_n(p, q) - \sum_{k=0}^{n-1} \binom{n}{k} H_{k,c}(p, q; u) \right]$$

and

$$H_{n,s}(p, q; u) = \frac{1}{1-u} \left[ (1-u)S_{n-1}(p, q) - \sum_{k=0}^{n-1} \binom{n}{k} H_{k,s}(p, q; u) \right],$$

where  $H_{0,c}(p, q; u) = 1$  and  $H_{0,s}(p, q; u) = 0$ .

**Proposition 3.8.** *For every  $n \in \mathbb{N}$ , the following identities hold true*

$$(3.16) \quad \frac{\partial}{\partial p} [H_{n,c}(p, q; u)] = nH_{n-1,c}(p, q; u),$$

$$(3.17) \quad \frac{\partial}{\partial p} [H_{n,s}(p, q; u)] = nH_{n-1,s}(p, q; u)$$

and

$$(3.18) \quad \frac{\partial}{\partial q} [H_{n,c}(p, q; u)] = -nH_{n-1,s}(p, q; u),$$

$$(3.19) \quad \frac{\partial}{\partial q} [H_{n,s}(p, q; u)] = nH_{n-1,c}(p, q; u).$$

It will be shown (3.16), the demonstrations of (3.17), (3.18) and (3.19) are similar.

*Proof.*

$$\begin{aligned} \frac{\partial}{\partial p} \left[ \sum_{n=0}^{\infty} H_{n,c}(p, q; u) \frac{z^n}{n!} \right] &= \sum_{k=0}^{\infty} \frac{\partial}{\partial p} [H_{k,c}(p, q; u)] \frac{z^k}{k!} \\ &= \frac{1-u}{e^z - u} z e^{pz} \cos(qz) \end{aligned}$$

$$\begin{aligned}
 &= \sum_{n=0}^{\infty} H_{n,c}(p, q; u) \frac{z^{n+1}}{n!} \\
 &= \sum_{n=1}^{\infty} H_{n-1,c}(p, q; u) \frac{z^n}{(n-1)!} \\
 &= \sum_{n=1}^{\infty} n H_{n-1,c}(p, q; u) \frac{z^n}{(n)!}. \quad \square
 \end{aligned}$$

**Proposition 3.9.** *The polynomials  $H_{n,c}(p, q; u)$  and  $H_{n,s}(p, q; u)$  are, respectively, of degrees  $n$  and  $n - 1$  in the variable  $p$  it is also asserted that*

$$\begin{aligned}
 H_{n,c}(p; q; u) &= p^n - \frac{1}{1-u} p^{n-1} + \dots, \\
 H_{n,s}(p; q; u) &= nqp^{n-1} - \frac{n(n-1)q}{1-u} p^{n-2} + \dots.
 \end{aligned}$$

4. TAYLOR TYPE SERIES INVOLVING THE APOSTOL-TYPE FROBENIUS-EULER NUMBERS AND FROBENIUS-EULER NUMBERS  $H_n(\lambda; u)$  AND  $H_n(u)$

An important fact of relationships (2.5) and (2.6) is that one can trace them as the expansion in Taylor series of some functions on the point  $z = 0$  and relate it to Apostol-Frobenius-Euler and Frobenius-Euler numbers. So, replacing (2.7) and (2.8) in (2.5) and (2.6), one has

$$\begin{aligned}
 (4.1) \quad f_{H,\lambda;u}^c(z; p, q) &= \frac{1-u}{\lambda e^z - u} e^{pz} \cos(qz) = \sum_{n=0}^{\infty} \left[ \sum_{k=0}^n \binom{n}{k} H_{n-k}(\lambda; u) C_k(p, q) \right] \frac{z^n}{n!}, \\
 f_{H,\lambda;u}^s(z; p, q) &= \frac{1-u}{\lambda e^z - u} e^{pz} \sin(qz) = \sum_{n=0}^{\infty} \left[ \sum_{k=0}^n \binom{n}{k} H_{n-k}(\lambda; u) S_k(p, q) \right] \frac{z^n}{n!}, \\
 f_{H,u}^c(z; p, q) &= \frac{1-u}{e^z - u} e^{pz} \cos(qz) = \sum_{n=0}^{\infty} \left[ \sum_{k=0}^n \binom{n}{k} H_{n-k}(u) C_k(p, q) \right] \frac{z^n}{n!}, \\
 f_{H,u}^s(z; p, q) &= \frac{1-u}{e^z - u} e^{pz} \sin(qz) = \sum_{n=0}^{\infty} \left[ \sum_{k=0}^n \binom{n}{k} H_{n-k}(u) S_k(p, q) \right] \frac{z^n}{n!},
 \end{aligned}$$

where  $C_k(p, q)$  and  $S_k(p, q)$  are defined in (2.1) and (2.2). Some particular cases will be shown using result previously known in Section 6 of [13].

*Example 4.1.* In (4.1), taking  $p = 0$  and  $q = 1$ , and using (2.3) and (2.4), one obtain

$$\begin{aligned}
 f_{H,\lambda;u}^c(z; 0, 1) &= \frac{1}{\lambda e^z - u} \cos(z) \\
 &= \sum_{n=0}^{\infty} \left[ \sum_{k=0}^n \frac{1}{1-u} \binom{n}{k} H_{n-k}(\lambda; u) \cos \frac{k\pi}{2} \right] \frac{z^n}{n!} \\
 &= \sum_{n=0}^{\infty} \left[ \sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} (-1)^k \frac{1}{1-u} \binom{n}{k} H_{n-k}(\lambda; u) \right] \frac{z^n}{n!}.
 \end{aligned}$$

Therefore, one has

$$\frac{1}{\lambda e^z - u} \cos(z) = \sum_{n=0}^{\infty} \left[ \sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} (-1)^k \frac{1}{1-u} \binom{n}{2k} H_{n-2k}(\lambda; u) \right] \frac{z^n}{n!},$$

as well as

$$\frac{1}{\lambda e^z - u} \sin(z) = \sum_{n=0}^{\infty} \left[ \sum_{k=0}^{\lfloor \frac{n-1}{2} \rfloor} (-1)^k \frac{1}{1-u} \binom{n}{2k+1} H_{n-2k-1}(\lambda; u) \right] \frac{z^n}{n!},$$

$$\frac{1}{e^z - u} \cos(z) = \sum_{n=0}^{\infty} \left[ \sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} (-1)^k \frac{1}{1-u} \binom{n}{2k} H_{n-2k}(u) \right] \frac{z^n}{n!}$$

and

$$\frac{1}{e^z - u} \sin(z) = \sum_{n=0}^{\infty} \left[ \sum_{k=0}^{\lfloor \frac{n-1}{2} \rfloor} (-1)^k \frac{1}{1-u} \binom{n}{2k+1} H_{n-2k-1}(u) \right] \frac{z^n}{n!}.$$

*Example 4.2.* Putting  $p = q = 1$  in (4.1), one gets

$$\frac{e^z}{\lambda e^z - u} \cos(z) = \sum_{n=0}^{\infty} \left[ \sum_{k=0}^n \frac{2^{\frac{k}{2}}}{1-u} \binom{n}{k} H_{n-k}(\lambda; u) \cos \frac{k\pi}{4} \right] \frac{z^n}{n!},$$

$$\frac{e^z}{\lambda e^z - u} \sin(z) = \sum_{n=0}^{\infty} \left[ \sum_{k=0}^n \frac{2^{\frac{k}{2}}}{1-u} \binom{n}{k} H_{n-k}(\lambda; u) \sin \frac{k\pi}{4} \right] \frac{z^n}{n!},$$

$$\frac{e^z}{e^z - u} \cos(z) = \sum_{n=0}^{\infty} \left[ \sum_{k=0}^n \frac{2^{\frac{k}{2}}}{1-u} \binom{n}{k} H_{n-k}(u) \cos \frac{k\pi}{4} \right] \frac{z^n}{n!}$$

and

$$\frac{e^z}{e^z - u} \sin(z) = \sum_{n=0}^{\infty} \left[ \sum_{k=0}^n \frac{2^{\frac{k}{2}}}{1-u} \binom{n}{k} H_{n-k}(u) \sin \frac{k\pi}{4} \right] \frac{z^n}{n!}.$$

### 5. PARAMETRIC APOSTOL-TYPE FROBENIUS-EULER POLYNOMIALS MATRIX

Inspired by [11, 12, 16], this section will address the generalized parametric Apostol-type Frobenius-Euler polynomials matrices and will show some of their properties.

**Definition 5.1.** The generalized  $(n + 1) \times (n + 1)$  parametric Apostol-type Frobenius-Euler polynomials matrices  $\mathcal{H}_c^{(\alpha)}(p, q; \lambda; u)$  and  $\mathcal{H}_s^{(\alpha)}(p, q; \lambda; u)$  are defined by

$$\mathcal{H}_{i,j,c}^{(\alpha)}(p, q; \lambda; u) = \begin{cases} \binom{i}{j} H_{i-j,c}^{(\alpha)}(p, q; \lambda; u), & i \geq j, \\ 0, & \text{otherwise,} \end{cases}$$

and

$$\mathcal{H}_{i,j,s}^{(\alpha)}(p, q; \lambda; u) = \begin{cases} \binom{i}{j} H_{i-j,s}^{(\alpha)}(p, q; \lambda; u), & i \geq j, \\ 0, & \text{otherwise.} \end{cases}$$

Since,  $H_{n,c}^{(0)}(p; 0; \lambda; u) = p^n$  and  $H_{n,s}^{(0)}\left(p; \frac{\pi}{2z}; \lambda; u\right) = p^n$ , we obtain

$$\mathcal{H}_c^{(0)}(p; 0; \lambda; u) = P[p], \quad \mathcal{H}_s^{(0)}\left(p; \frac{\pi}{2z}; \lambda; u\right) = P[p].$$

**Theorem 5.1.** *The generalized parametric Apostol-type Frobenius-Euler polynomials matrices  $\mathcal{H}_c^{(\alpha)}(p, q; \lambda; u)$  and  $\mathcal{H}_s^{(\alpha)}(p, q; \lambda; u)$  satisfies the following product formulae*

$$\begin{aligned} (5.1) \quad \mathcal{H}_c^{(\alpha+\beta)}(p+q; q; \lambda; u) &= \mathcal{H}_c^{(\alpha)}(p; q; \lambda; u) \mathcal{H}_c^{(\beta)}(q; 0; \lambda; u) \\ &= \mathcal{H}_c^{(\beta)}(p; q; \lambda; u) \mathcal{H}_c^{(\alpha)}(q; 0; \lambda; u) \\ &= \mathcal{H}_c^{(\alpha)}(q; 0; \lambda; u) \mathcal{H}_c^{(\beta)}(p; q; \lambda; u), \end{aligned}$$

$$\begin{aligned} (5.2) \quad \mathcal{H}_s^{(\alpha+\beta)}(p+q; q; \lambda; u) &= \mathcal{H}_s^{(\alpha)}(p; q; \lambda; u) \mathcal{H}_s^{(\beta)}\left(q; \frac{\pi}{2z}; \lambda; u\right) \\ &= \mathcal{H}_s^{(\beta)}(p; q; \lambda; u) \mathcal{H}_s^{(\beta)}\left(q; \frac{\pi}{2z}; \lambda; u\right) \\ &= \mathcal{H}_s^{(\alpha)}\left(q; \frac{\pi}{2z}; \lambda; u\right) \mathcal{H}_s^{(\beta)}(p; q; \lambda; u). \end{aligned}$$

*Proof.* Let  $D_{i,j,c}^{[\alpha,\beta]}(\lambda; u)(p, q)$  be the  $(i, j)$ -th entry of the matrix product  $\mathcal{H}_c^{(\alpha)}(p; q; \lambda; u) \mathcal{H}_c^{(\beta)}(q; 0; \lambda; u)$ , then by the addition formula (2.9) we have

$$\begin{aligned} D_{i,j,c}^{[\alpha,\beta]}(\lambda; u)(p, q) &= \sum_{k=0}^n \binom{i}{k} H_{i-k,c}^{[\alpha]}(p; q; \lambda; u) \binom{k}{j} H_{k-j,c}^{[\beta]}(q; 0; \lambda; u) \\ &= \sum_{k=j}^i \binom{i}{k} H_{i-k,c}^{[\alpha]}(p; q; \lambda; u) \binom{k}{j} H_{k-j,c}^{[\beta]}(q; 0; \lambda; u) \\ &= \sum_{k=j}^i \binom{i}{j} \binom{i-j}{i-k} H_{i-k,c}^{[\alpha]}(p; q; \lambda; u) H_{k-j,c}^{[\beta]}(q; 0; \lambda; u) \\ &= \binom{i}{j} \sum_{k=0}^{i-j} \binom{i-j}{k} H_{i-j-k,c}^{[\alpha]}(p; q; \lambda; u) H_{k,c}^{[\beta]}(q; 0; \lambda; u) \\ &= \binom{i}{j} H_{i-j,c}^{[\alpha+\beta]}(p+q; q; \lambda; u), \end{aligned}$$

which implies (5.1). The second and third equalities of the theorem and (5.2), can be derived in a similar way. □

**Corollary 5.1.** *The generalized parametric Apostol-type Frobenius-Euler polynomials matrices  $\mathcal{H}_c^{(\alpha)}(p, q; \lambda; u)$  and  $\mathcal{H}_s^{(\alpha)}(p, q; \lambda; u)$  satisfy the following relations*

$$\begin{aligned} \mathcal{H}_c^{[\alpha]}(p + q; q; \lambda; u) &= \mathcal{H}_c^{[\alpha]}(p; q; \lambda; u)P[q] = P[p]\mathcal{H}_c^{[\alpha]}(q; q; \lambda; u) \\ &= \mathcal{H}_c^{[\alpha]}(q; q; \lambda; u)P[p], \\ \mathcal{H}_s^{[\alpha]}(p + q; q; \lambda; u) &= \mathcal{H}_s^{[\alpha]}(p; q; \lambda; u)P[q] = P[p]\mathcal{D}_s^{[\alpha]}(q; q; \lambda; u) \\ &= \mathcal{D}_s^{[\alpha]}(q; q; \lambda; u)P[p]. \end{aligned}$$

In particular,

$$\mathcal{H}_c(p + q; q; \lambda; u) = P[p]\mathcal{H}_c(q; q; \lambda; u) = P[q]\mathcal{H}_c(p; q; \lambda; u).$$

*Example 5.1.* For  $\alpha = 1$  the first three polynomials  $\mathcal{H}_{k,c}^{[\alpha]}(p; q; \lambda; u)$ ,  $k = 0, 1, 2$ , are

$$\begin{aligned} H_0^c(p, q; \lambda; u) &= \frac{1 - u}{\lambda - u}, \\ H_1^c(p, q; \lambda; u) &= \frac{1 - u}{\lambda - u}p - \frac{\lambda(1 - u)}{(\lambda - u)^2}, \\ H_2^c(p, q; \lambda; u) &= \left[ \frac{2\lambda^2}{(\lambda - u)^3} - \frac{\lambda}{(\lambda - u)^2} \right] (1 - u) - \frac{1 - u}{\lambda - u}q^2 + \frac{1 - u}{(\lambda - u)^2}p^2 \\ &\quad + \left[ \frac{2(1 - u)\lambda}{(\lambda - u)^2} \right] p. \end{aligned}$$

Hence, for  $n = 2$  we have

$$\mathcal{H}_c^{[1]}(p; q, \lambda, u) = \begin{bmatrix} H_0^c(p, q; \lambda; u) & 0 & 0 \\ H_1^c(p, q; \lambda; u) & H_0^c(p, q; \lambda; u) & 0 \\ H_2^c(p, q; \lambda; u) & 2H_1^c(p, q; \lambda; u) & H_0^c(p, q; \lambda; u) \end{bmatrix}.$$

For  $\alpha, u, \lambda \in \mathbb{C}$ ,  $0 \leq i, j \leq n$ , let  $\mathbb{K}_c^{[\alpha]}(p; q; \lambda, u)$  and  $\mathbb{K}_s^{[\alpha]}(p; q; \lambda, u)$  be the matrices whose entries are defined by

$$\begin{aligned} \tilde{r}_{i,j,c}^{[\alpha]}(p; q; \lambda; u) &= \binom{i}{j} H_{i-j,c}^{[\alpha]}(p; q; \lambda; u) - \binom{i-1}{j} H_{i-j-1,c}^{[\alpha]}(p; q; \lambda; u) \\ &\quad - \binom{i-2}{j} H_{i-j-2,c}^{[\alpha]}(p; q; \lambda; u), \\ \tilde{r}_{i,j,s}^{[\alpha]}(p; q; \lambda; u) &= \binom{i}{j} H_{i-j,s}^{[\alpha]}(p; q; \lambda; u) - \binom{i-1}{j} H_{i-j-1,s}^{[\alpha]}(p; q; \lambda; u) \\ &\quad - \binom{i-2}{j} H_{i-j-2,s}^{[\alpha]}(p; q; \lambda; u). \end{aligned}$$

On the other hand,  $\mathcal{J}_c^{[\alpha]}(p; q; \lambda; u)$  and  $\mathcal{J}_s^{[\alpha]}(p; q; \lambda; u)$  are the matrices whose entries are given by

$$\tilde{s}_{i,j,c}^{[\alpha]}(p; q; \lambda; u) = \binom{i}{j} H_{i-j,c}^{[\alpha]}(p; q; \lambda; u) - \binom{i}{j+1} H_{i-j-1,c}^{[\alpha]}(p; q; \lambda; u)$$

$$\begin{aligned} & - \binom{i}{j+2} H_{i-j-2,c}^{[\alpha]}(p; q; \lambda; u), \\ \tilde{s}_{i,j,s}^{[\alpha]}(p; q; \lambda; u) & = \binom{i}{j} H_{i-j,s}^{[\alpha]}(p; q; \lambda; u) - \binom{i}{j+1} H_{i-j-1,s}^{[\alpha]}(p; q; \lambda; u) \\ & - \binom{i}{j+2} H_{i-j-2,s}^{[\alpha]}(p; q; \lambda; u). \end{aligned}$$

Using the definitions of  $\mathbb{K}_c^{[\alpha]}(p; q; \lambda; u)$ ,  $\mathbb{K}_s^{[\alpha]}(p; q; \lambda; u)$ ,  $\mathcal{J}_c^{[\alpha]}(p; q; \lambda; u)$  and  $\mathcal{J}_s^{[\alpha]}(p; q; \lambda; u)$ , it is observed that

$$\begin{aligned} \tilde{r}_{0,0,c}^{[\alpha]}(p; q; \lambda; u) & = \tilde{r}_{1,1,c}^{[\alpha]}(p; q; \lambda; u) = \tilde{s}_{0,0,c}^{[\alpha]}(p; q; \lambda; u) = \tilde{s}_{1,1,c}^{[\alpha]}(p; q; \lambda; u) = H_{0,c}^{[\alpha]}(p, q, \lambda; u), \\ \tilde{r}_{0,j,c}^{[\alpha]}(p; q; \lambda; u) & = \tilde{s}_{0,j,c}^{[\alpha]}(p; q; \lambda; u) = 0, \quad j \geq 1, \\ \tilde{r}_{1,0,c}^{[\alpha]}(p; q; \lambda; u) & = \tilde{s}_{1,0,c}^{[\alpha]}(p; q; \lambda; u) = H_{1,c}^{[\alpha]}(p; q; \lambda; u) - H_{0,c}^{[\alpha]}(p; q; \lambda; u), \\ \tilde{r}_{1,j,c}^{[\alpha]}(p; q; \lambda; u) & = \tilde{s}_{1,j,c}^{[\alpha]}(p; q; \lambda; u) = 0, \quad j \geq 2, \\ \tilde{r}_{i,0,c}^{[\alpha]}(p; q; \lambda; u) & = H_{i,c}^{[\alpha]}(p; q; \lambda; u) - H_{i-1,c}^{[\alpha]}(p; q; \lambda; u) - H_{i-2,c}^{[\alpha]}(p; q; \lambda; u), \quad i \geq 2, \\ \tilde{s}_{i,0,c}^{[\alpha]}(p; q; \lambda; u) & = H_{i,c}^{[\alpha]}(p; q; \lambda; u) - 2H_{i-1,c}^{[\alpha]}(p; q; \lambda; u) - H_{i-2,c}^{[\alpha]}(p; q; \lambda; u), \quad i \geq 2, \\ \tilde{r}_{0,0,s}^{[\alpha]}(p; q; \lambda; u) & = \tilde{r}_{1,1,s}^{[\alpha]}(p; q; \lambda; u) = \tilde{s}_{0,0,s}^{[\alpha]}(p; q; \lambda; u) = \tilde{s}_{1,1,s}^{[\alpha]}(p; q; \lambda; u) = H_{0,s}^{[\alpha]}(p, q, \lambda; u), \\ \tilde{r}_{0,j,s}^{[\alpha]}(p; q; \lambda; u) & = \tilde{s}_{0,j,s}^{[\alpha]}(p; q; \lambda; u) = 0, \quad j \geq 1, \\ \tilde{r}_{1,0,s}^{[\alpha]}(p; q; \lambda; u) & = \tilde{s}_{1,0,s}^{[\alpha]}(p; q; \lambda; u) = H_{1,s}^{[\alpha]}(p; q; \lambda; u) - H_{0,s}^{[\alpha]}(p; q; \lambda; u), \\ \tilde{r}_{1,j,s}^{[\alpha]}(p; q; \lambda; u) & = \tilde{s}_{1,j,s}^{[\alpha]}(p; q; \lambda; u) = 0, \quad j \geq 2, \\ \tilde{r}_{i,0,s}^{[\alpha]}(p; q; \lambda; u) & = H_{i,s}^{[\alpha]}(p; q; \lambda; u) - H_{i-1,s}^{[\alpha]}(p; q; \lambda; u) - H_{i-2,s}^{[\alpha]}(p; q; \lambda; u), \quad i \geq 2, \\ \tilde{s}_{i,0,s}^{[\alpha]}(p; q; \lambda; u) & = H_{i,s}^{[\alpha]}(p; q; \lambda; u) - 2H_{i-1,s}^{[\alpha]}(p; q; \lambda; u) - H_{i-2,s}^{[\alpha]}(p; q; \lambda; u), \quad i \geq 2. \end{aligned}$$

For  $\alpha, \lambda, u \in \mathbb{C}$ ,  $0 \leq i, j \leq n$ , let  $\mathcal{L}_{1,c}^{[\alpha]}(p; q; \lambda; u)$  and  $\mathcal{L}_{1,s}^{[\alpha]}(p; q; \lambda; u)$  be the matrices whose entries are given by

$$\begin{aligned} \hat{l}_{i,j,1,c}^{[\alpha]}(p; q; \lambda; u) & = \binom{i}{j} H_{i-j,c}^{[\alpha]}(p; q; \lambda; u) - 3 \binom{i-j}{j} H_{i-j-1,c}^{[\alpha]}(p; q; \lambda; u) \\ & + 5 \sum_{k=j}^{i-2} (-1)^{i-k} 2^{i-k-2} \binom{k}{j} H_{k-j,c}^{[\alpha]}(p; q; \lambda; u), \\ \hat{l}_{i,j,1,s}^{[\alpha]}(p; q; \lambda; u) & = \binom{i}{j} H_{i-j,s}^{[\alpha]}(p; q; \lambda; u) - 3 \binom{i-j}{j} H_{i-j-1,s}^{[\alpha]}(p; q; \lambda; u) \\ & + 5 \sum_{k=j}^{i-2} (-1)^{i-k} 2^{i-k-2} \binom{k}{j} H_{k-j,s}^{[\alpha]}(p; q; \lambda; u). \end{aligned}$$

Similarly, let  $\mathcal{L}_{2,c}^{[\alpha]}(p; q; \lambda; u)$  and  $\mathcal{L}_{2,s}^{[\alpha]}(p; q; \lambda; u)$ ,  $(n + 1) \times (n + 1)$  be the matrices whose entries are given by

$$\begin{aligned} \hat{l}_{i,j,2,c}^{[\alpha]}(p; q; \lambda; u) &= \binom{i}{j} H_{i-j,c}^{[\alpha]}(p; q; \lambda; u) - 3 \binom{i}{j+1} H_{i-j-1,c}^{[\alpha]}(p; q; \lambda; u) \\ &\quad + 5 \sum_{k=j+1}^i (-1)^{k-j} 2^{k-j-2} \binom{i}{k} H_{i-k,c}^{[\alpha]}(p; q; \lambda; u), \\ \hat{l}_{i,j,2,s}^{[\alpha]}(p; q; \lambda; u) &= \binom{i}{j} H_{i-j,s}^{[\alpha]}(p; q; \lambda; u) - 3 \binom{i}{j+1} H_{i-j-1,s}^{[\alpha]}(p; q; \lambda; u) \\ &\quad + 5 \sum_{k=j+1}^i (-1)^{k-j} 2^{k-j-2} \binom{i}{k} H_{i-k,s}^{[\alpha]}(p; q; \lambda; u). \end{aligned}$$

Next we will show factorizations of the matrices  $\mathcal{H}_c^{[\alpha]}(p; q; \lambda; u)$  and  $\mathcal{H}_s^{[\alpha]}(p; q; \lambda; u)$  involving the Fibonacci and Lucas matrices, respectively.

**Theorem 5.2.** *The parametric Apostol-type Frobenius-Euler polynomials matrix  $\mathcal{H}_c^{[\alpha]}(p; q; \lambda; u)$  and  $\mathcal{H}_s^{[\alpha]}(p; q; \lambda; u)$  can be factored in terms of the Fibonacci matrix  $\mathcal{F}$  as follows*

(5.3)  $\mathcal{H}_c^{[\alpha]}(p; q; \lambda; u) = \mathcal{F} \mathbb{K}_c^{[\alpha]}(p; q; \lambda; u),$

(5.4)  $\mathcal{H}_s^{[\alpha]}(p; q; \lambda; u) = \mathcal{F} \mathbb{K}_s^{[\alpha]}(p; q; \lambda; u),$

(5.5)  $\mathcal{H}_c^{[\alpha]}(p; q; \lambda; u) = \mathcal{J}_c^{[\alpha]}(p; q; \lambda; u) \mathcal{F},$

(5.6)  $\mathcal{H}_s^{[\alpha]}(p; q; \lambda; u) = \mathcal{J}_s^{[\alpha]}(p; q; \lambda; u) \mathcal{F}.$

*Proof.* The relation (5.3) is equivalent to

$$\mathcal{F}^{-1} \mathcal{H}_c^{[\alpha]}(p; q; \lambda; u) = \mathbb{K}_c^{[\alpha]}(p; q; \lambda; u),$$

following the ideas of [11] or [19, Theorem 4.1], and making the corresponding modifications, (5.3) is obtained. □

In addition, the relations (5.3), (5.4), (5.5) and (5.6) allow us to deduce the following identities:

$$\begin{aligned} \mathbb{K}_c^{[\alpha]}(p; q; \lambda; u) &= \mathcal{F}^{-1} \mathcal{J}_c^{[\alpha]}(p; q; \lambda; u) \mathcal{F}, \\ \mathbb{K}_s^{[\alpha]}(p; q; \lambda; u) &= \mathcal{F}^{-1} \mathcal{J}_s^{[\alpha]}(p; q; \lambda; u) \mathcal{F}. \end{aligned}$$

An analogous reasoning used in the proof of Theorem 5.2, allows us to prove the results below.

*Example 5.2.* For  $\alpha = 1$ , the matrices, for  $n = 2$ ,  $K_c^{[1]}(p; q; \lambda; u)$  and  $\mathcal{F}$  are

$$\mathbb{K}_c^{[1]}(p; q; \lambda; u) = \begin{bmatrix} a & 0 & 0 \\ b-a & a & 0 \\ c-b-a & 2b-a & a \end{bmatrix},$$



where  $a = H_{0,c}(p, q; \lambda; u)$ ,  $b = H_{1,c}(p, q; \lambda; u)$  and  $c = H_{2,c}(p, q; \lambda; u)$ ,

$$\mathcal{F} = \begin{bmatrix} 1 & 0 & 0 \\ 1 & 1 & 0 \\ 2 & 1 & 1 \end{bmatrix}.$$

Hence,

$$\mathcal{F}\mathbb{K}_c^{[1]} = \begin{bmatrix} a & 0 & 0 \\ b & a & 0 \\ c & 2b & a \end{bmatrix} \quad \text{and} \quad \mathcal{H}_c^{[1]}(p, q, \lambda; u) = \begin{bmatrix} a & 0 & 0 \\ b & a & 0 \\ c & 2b & a \end{bmatrix}.$$

This is a particular case of Theorem 5.2 affirmation (5.3).

*Example 5.3.* For  $\alpha = 1$ , the matrices, for  $n = 2$ ,  $\mathcal{J}^{[1]}(p; q; \lambda; u)$  and  $\mathcal{F}$  are

$$\mathcal{J}^{[1]}(p; q; \lambda; u) = \begin{bmatrix} a & 0 & 0 \\ b - a & a & 0 \\ c - 2b - a & 2b - a & a \end{bmatrix}, \quad \mathcal{F} = \begin{bmatrix} 1 & 0 & 0 \\ 1 & 1 & 0 \\ 2 & 1 & 1 \end{bmatrix}.$$

Then

$$\mathcal{J}^{[1]}(p; q; \lambda; u)\mathcal{F} = \begin{bmatrix} a & 0 & 0 \\ b & a & 0 \\ c & 2b & a \end{bmatrix} \quad \text{and} \quad \mathcal{H}_c^{[1]}(p; q; \lambda; u) = \begin{bmatrix} a & 0 & 0 \\ b & a & 0 \\ c & 2b & a \end{bmatrix}.$$

This is a particular case of Theorem 5.2 affirmation (5.5).

**Theorem 5.3.** *The parametric Apostol-type Frobenius-Euler polynomials matrix  $\mathcal{H}_c^{[\alpha]}(p; q; \lambda; u)$  and  $\mathcal{H}_s^{[\alpha]}(p; q; \lambda; u)$  can be factored in terms of the Lucas matrix  $\mathcal{L}$  of the following form*

$$(5.7) \quad \mathcal{H}_c^{[\alpha]}(p; q; \lambda; u) = \mathcal{L}\mathcal{L}_{1,c}^{[\alpha]}(x; y; a)$$

or

$$\mathcal{H}_c^{[\alpha]}(p; q; \lambda; u) = \mathcal{L}_{2,c}^{[\alpha]}(p; q; \lambda; u)\mathcal{L},$$

$$\mathcal{H}_s^{[\alpha]}(p; q; \lambda; u) = \mathcal{L}\mathcal{L}_{1,s}^{[\alpha]}(p; q; \lambda; u)$$

or

$$\mathcal{H}_s^{[\alpha]}(p; q; \lambda; u) = \mathcal{L}_{2,s}^{[m-1,\alpha]}(p; q; \lambda; u)\mathcal{L}.$$

*Proof.* The relation (5.7) is equivalent to

$$\mathcal{L}^{-1}\mathcal{H}_c^{[\alpha]}(p; q; \lambda; u) = \mathcal{L}_{1,c}^{[\alpha]}(x; y; a),$$

following the ideas of [11, Theorem 9], and making the corresponding modifications, (5.7) is obtained. □

*Example 5.4.* For  $\alpha = 1$ , the matrices, for  $n = 2$ ,  $\mathcal{L}_{1,c}^{[1]}(p; q; \lambda; u)$  and  $\mathcal{L}$  are

$$\mathcal{L}_{1,c}^{[1]}(p; q; \lambda; u) = \begin{bmatrix} a & 0 & 0 \\ b - 3a & a & 0 \\ c - 3b + 5a & 2b - 3a & a \end{bmatrix}, \quad \mathcal{L} = \begin{bmatrix} 1 & 0 & 0 \\ 3 & 1 & 0 \\ 4 & 3 & 1 \end{bmatrix},$$

$$\mathcal{L}\mathcal{L}_{1,c}^{[1]}(x; y; a) = \begin{bmatrix} a & 0 & 0 \\ b & a & 0 \\ c & 2b & a \end{bmatrix} \quad \text{and} \quad \mathcal{H}_c^{[1]}(p, q, \lambda, u) = \begin{bmatrix} a & 0 & 0 \\ b & a & 0 \\ c & 2b & a \end{bmatrix}.$$

This is a particular case of Theorem 5.3 affirmation (5.7).

## 6. CONCLUSIONS

The paper aims to present the study of new properties of the polynomials that are introduced in [10]. Certain expressions, representations, and summations of these polynomials are derived in terms of well-known classical special functions. The results we have considered in this paper indicate the usefulness of the series rearrangement technique used to deal with the theory of special functions. We have obtained new series of the Taylor type involving the Apostol Frobenius-Euler numbers and Frobenius-Euler numbers. Finally, they addressed the generalized parametric Apostol-type Frobenius-Euler polynomials matrices and show some of their properties.

## REFERENCES

- [1] F. Avram and M. S. Taqqu, *Noncentral limit theorems and Appell polynomials*, Ann. Probab. **15** (1987), 767–775.
- [2] S. Araci and M. Acikgoz, *Construction of fourier expansion of Apostol Frobenius-Euler polynomials and its applications*, Adv. Difference Equ. **67** (2018), 1–14. <https://doi.org/10.1186/s13662-018-1526-x>
- [3] L. Castilla, W. Ramírez and A. Urieles, *An extended generalized-extensions for the Apostol type polynomials*, Abstr. Appl. Anal. **2018**, 1–13. <https://doi.org/10.1155/2018/2937950>
- [4] D. Bedoya, M. Ortega, W. Ramírez and A. Urieles, *New biparametric families of Apostol-Frobenius-Euler polynomials of level m*, Matematychni Studii **55**(1) (2021), 10–23. <https://doi.org/10.30970/ms.55.1.10-23>
- [5] B. Kurt and Y. Simsek, *On the generalized Apostol-type Frobenius-Euler polynomials*, Adv. Difference Equ. **2013**(1) (2013), 1–9. <https://doi.org/10.1186/1687-1847-2013-1>
- [6] B. Kurt, *A further generalization of the Bernoulli polynomials and on the 2D-Bernoulli polynomials  $B_n^2(x, y)$* , Appl. Math. Sci. **4** (2010), 2315–2322.
- [7] Q.-M. Luo, *Apostol-Euler polynomials of higher order and Gaussian hypergeometric functions*, Taiwan J. Math. **10**(4) (2006), 917–925. <https://doi.org/10.11650/twjm/1500403883>
- [8] M. Masjed-Jamei and W. Koepf, *Symbolic computation of some power-trigonometric series*, J. Symbolic Comput. **80** (2017), 273–284. <https://doi.org/10.1016/j.jsc.2016.03.004>
- [9] M. Masjed-Jamei, M. R. Beyki and W. Koepf, *A new type of Euler polynomials and numbers*, Mediterr. J. Math. **15** (2018), 1–17. <https://doi.org/10.1007/s00009-018-1181-1>
- [10] N. Kilar and Y. Simsek, *Two parametric kinds of Eulerian-type polynomials associated with Eulers formula*, Symmetry **11** (2019), 1–19. <https://doi.org/10.3390/sym11091097>
- [11] W. Ramírez, Y. Quintana and G. Urieles, *Generalized Apostol-Type Polynomials Matrix and Algebraic Properties*, Math. Reports. **21(71)**(2) (2019), 249–264.
- [12] W. Ramírez, M. Ortega and A. Urieles, *New generalized Apostol Frobenius-Euler polynomials and their matrix approach*, Kragujevac J. Math. **45**(3) (2021), 393–407. <https://doi.org/10.46793/KgJMat2103.3930>
- [13] H. M. Srivastava, M. J. Masjed and M. R. Beyki, *A parametric type of the Apostol-Bernoulli, Apostol-Euler and Apostol-Genocchi polynomials*, Appl. Math. Inf. Sci. **12** (2018), 907–916. <https://doi.org/10.18576/amis/120502>

- [14] P. Tempesta, *Formal groups, Bernoulli-type polynomials and L-series*, C. R. Math. Acad. Sci. Paris **345** (2007), 303–306.
- [15] Y. Quintana, W. Ramírez and A. Urieles, *On an operational matrix method based on generalized Bernoulli polynomials of level  $m$* , Calcolo **53**(3) (2018), 1–29. <https://doi.org/10.1007/s10092-018-0272-5>
- [16] Y. Quintana, W. Ramírez and A. Urieles, *Euler matrices and their algebraic properties revisited*, Appl. Math. Inf. Sci. **14**(4) (2020), 583–596. <http://dx.doi.org/10.18576/amis/140407>
- [17] A. Urieles, M. Ortega, W. Ramirez and S. Vega, *New results on the  $q$ -generalized Bernoulli polynomials of level  $m$* , Demonstr. Math. **52** (2019), 511–522. <https://doi.org/10.1515/dema-2019-0039>
- [18] A. Urieles, W. Ramírez, M. J. Ortega and D. Bedoya, *Fourier expansion and integral representation generalized Apostol-type Frobenius-Euler polynomials*, Adv. Difference Equ. **534** (2020), 1–14. <https://doi.org/10.1186/s13662-020-02988-0>
- [19] Z. Zhang and J. Wang, *Bernoulli matrix and its algebraic properties*, Discrete Appl. Math. **154**(11) (2006), 1622–1632. <https://doi.org/10.1016/j.dam.2006.01.008>
- [20] Z. Zhang and Y. Zhang, *The Lucas matrix and some combinatorial identities*, Indian J. Pure Appl. Math. **38**(5) (2007), 457–465.

<sup>1</sup>DEPARTAMENTO DE CIENCIAS NATURALES Y EXACTAS,  
UNIVERSIDAD DE LA COSTA, BARRANQUILLA-COLOMBIA  
Email address: wramirez4@cuc.edu.co  
Email address: mortega22@cuc.edu.co

<sup>2</sup>DEPARTAMENTO DE CIENCIAS BÁSICAS,  
UNIVERSIDAD METROPOLITANA, BARRANQUILLA-COLOMBIA  
Email address: dbedoya@unimetro.edu.co

<sup>3</sup>PROGRAMA DE MATEMÁTICAS,  
UNIVERSIDAD DEL ATLÁNTICO, BARRANQUILLA-COLOMBIA  
Email address: alejandrourieles@mail.uniatlantico.edu.co